2D Motion - Motion on a Ramp (Inclined plane)
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A car drives up a steep 10° slope at constant speed of 15 m/s.
After 10 s, how much height has the car gained?
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A skier starts from nd accelerates down a stretch of a
mountain with a contant slope. If the skier travels 360 m
while dropping a vertical distance of 170 m, what is the

fastest sEeed a skier can achieve at the end of the run? How
much time would this run take?
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A wooden roller coaster has cars that go down a big hill first,

gaining speed. The cars then ascend a second hill with a
slope o @ the cars are goingat the bottom and it

takes the o climb this hill, how fast are they moving (v,ag
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How fur did Hhe moller coaster car l(mb up the hil?
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Practice Problem #1:
You begin sliding down a\15° slope Ignoring frictjon and air
resistance, how fast will you moving afte @
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Practice Problem #
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Practice Problem #3:

A piano begins to roll down a ramp on the back of a moving truck.
If the truck is 1.0 m above the ground and the ramp is inclined at
20°. How long will it take for the piano to reach the bottom of the
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